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3 7 2
× 3

0 0 6
2 1 0
9 0 0

1 1 1 6

•

•
•
•
•

��� ���• �������������� �� ���• ��� ��� �������������

��	  

�   �

� �
•

� ��� �


 ­ €

� �
•

	 � ‚��• ��� ��� ����������������

��	 ƒ�
 � � � � ���  � 
��� � �

��	 ���� � � � � ��� ���ƒ­ƒ � � � 

��	 � � €�� � � „ �� €��­
 � � � 

… ‚���� †��� ‡���� 
­�€

• ••





� � ­�
ƒ •• �„ ˆ��� �� ���‰�‰ �� ��•� ��� ��•��

Š�� ���� ˆ��� �� ���‰�‰ �� ��•� „��� ��•��‹

� 

� � ‚��• ��� ��� ����������������

��	 •�
 � 
 �  

	 •�
 � � � 

	 ���� � � � 

	 •�
 �   � 

��	  � ���ƒ � �

	  � ���ƒ � �

	  � ��ƒ � �

� � Œ��� �� ������• ��� � �

�� ��� �•��� ���� Œ���‹ 

Ž‘����� ����

… ‚���� †��� ‡���� 
­�€

� � ��� ��� ‰�•��� �’ 
’ � ��‰ � ���� ���� �� ������ � �������������

��	 Š�� ���� ‰�„„����� ���‰���� ��� ��� ��•�‹

��	 ‚��� �� ��� •������� �����“�� ���‰���‹

� 

��	 ‚��� �� ��� �������� �����“�� ���‰���‹

� 

��	 ‚��� �� ��� ���‰��� ������� �� �
‹

� 

”������ ������� ���� � ��������

To solve this, I 
did 34 × 4, which was 136

Then I multiplied my answe 
by 10 to get an answer 

of 1,360
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